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TR BFERREFOREDARICHLIEAR (ED3)

HETRRORE [ L£HFRDHKN/m) TEROES (M) X7 BETRRORE | LHERD A N/m) TEROES (M) X5
1~2 14.56 0.67 R
2~3 11.90 0.60 R
3~4 9.17 0.51 Y
4~5 7.95 0.51 Y
5~6 6.79 0.50 Y
6~7 5.87 0.51 Y
7~8 5.10 0.51 Y
8~9 4.55 0.52 Y
9~10 3.84 0.54 Y
10~11 3.49 0.55 Y
11~12 1217 0.75 Y
12~13 8.50 0.83 Y
13~14 4.89 0.55 Y
14~15 4.66 0.56 Y
15~16 4.66 0.56 Y
16~17 4.92 0.55 Y
17~18 4.57 0.57 Y
18~19 4.43 0.58 Y
19~20 412 0.60 Y
20~21 3.37 0.64 Y
21~22 1.53 0.86 Y
BARKROES TR RRES I1-1313
R —3(L) —— . — :
BENOMEORHCLELHRISETIER FTEE |wiven | RAR R
EREABR  |FH30E3A208 R PR A B B R 5 B TR




